Monday March 30th: 
Math
1. John went to town on the bus. He bought a bus ticket, two CDs and two concert tickets.	
(i) Find the total cost of	
Bus ticket: 	€10·00 ×1 =
    	C.D.: 		€15·50 ×2 =
	Tickets: 	€21·99 ×2 =_____________
  			 Total 	=

(ii) I pay with two €50 notes. How much change do I get? 



2. John went out for dinner with his family. They had two starters, two main courses and two desserts. 	
(i) Find the total cost of	
Starter: 	€7·99 ×2 =
    	Main Courses:	€14·99 ×2 =
	Dessert: 	€6·95 ×2 =_____________
  			 Total 	=

(iii) I pay with two €50 notes. How much change do I get? 
3. Draw these Venn diagrams in the space below. 
O = {3,6,9,12,15 }                           P={7,8,9,10,11,12}





a. What is O U P? ______________________ b. What is O ∩ P? __________________________
c. What is #P? ________________________   d. What is O \ P? ___________________________
(Remember: # = how many elements in the set)
4. In a class, 27 students were asked if they preferred hurling or soccer. Their answers are represented in the Venn diagram below. Answer the questions that follow. 
	
   Hurling	      Soccer
	8	4	4

		
                                                                      11



a) How many students played both sports? __________________
b) How many students played hurling only? _________________
c) How many students played neither sport? _________________
d) How many students played soccer? _____________________
e) How many students played hurling? _____________________


English: Read the following story and answer the questions that follow. 
Global Warming
Global warming refers to the increase of the earth's average temperature due to increasing amounts of greenhouse gases in the atmosphere. Carbon dioxide is the biggest contributor to greenhouse gas emissions.
Scientists agree that the burning of fossil fuels like oil and coal causes greenhouse gases such as carbon dioxide to escape into the air and act like a warm blanket over the earth.
One way to reduce greenhouse gases is to reduce deforestation, the cutting down of trees. Trees soak up carbon dioxide from the air, so having lots of trees around is good for the atmosphere.
There are already some changes happening because of global warming. Sea level is rising and some animals are moving to new homes because their natural habitat is disappearing. If the warming gets worse, as scientists expect, there may be some kinds of plants and animals that become extinct.
There may be more storms, floods and fires. Due to melting ice caps, sea levels may rise so much that people have to move away from the coasts. Some areas may become too dry for farming.
All humans contribute to global warming by burning fossil fuels when they drive a car, fly in an airplane, heat or cool their houses and cut down trees to clear land.
The best way to help slow down global warming is to put less carbon into the air by using less fossil fuel - something that is easy to say, but hard to do!
1. What is the biggest contributor to greenhouse gas emissions?
________________________________________________________________________________________________________________________________
2. What do scientist think cause greenhouse gases?
________________________________________________________________________________________________________________________________
3. What is deforestation?
________________________________________________________________________________________________________________________________
4. What might happen if the Earth gets too warm?
________________________________________________________________________________________________________________________________
5. Give two examples of how humans contribute to global warming.
________________________________________________________________________________________________________________________________
6. Give two ways in which your school helps the environment. 
________________________________________________________________________________________________________________________________
7. Imagine that you live in a planet where there are no plants or animals left because the Earth became too hot. Write five lines to tell me what you think that would be like? ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




History:
Revise the Ancient Rome Kahoot today:
Ancient Rome: 0335344
Read this piece of Patrician houses: 
The home of the well-off Roman citizen, or patrician, was known as "Domus". 
These were brick built houses with a second floor. They would have had a red tiled roof. 
The domus would be arranged around a central courtyard called an atrium. The Atrium was a part covered courtyard, with a water-feature in the centre! The water-feature would collect rain water for the domus through a hole in the roof. This was called an impluvium. 
The vestibulum was a corridor from the front entrance to the atrium. 
The domus would be decorated with paintings on the walls and beautiful mosaics on the floors. 
These wealthy people would have a toilet and private bath within the domus. Other rooms in the domus might include an office, a temple for worship, a library, several bedrooms, a dining room and a kitchen. 
The largest homes, owned by the wealthiest citizens would have a peristyle (garden) with fountains, flowers, statues and wall paintings. 
Most of these houses would have had running water, toilets and some even had central heating. 
	
Answer the following questions:
1. Did the Romans use carpets? 
2. What was a peristyle?
3. What was a rich romans house called?
4. What was used on the roof of a domus?
5. Name three rooms you might have found in a domus.
6. What do you think the Romans have done with the collected rainwater in the impluvium?
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